WEREL IS
DKEHBLVWHTILARE RGO —EB & R EST 5 &M

DEBLWTNARERH (FR 1 8ESEALWHEMNE 1 1 78) 0—WrK
D& SITKIET 5,

BIRE 3
r
MERR X5y EAGE AR (1RERIY - 0)
DR EHR LWL ATREARMS S 950M
WE-9! 250M
s 2 250M
@&%Ei . 240M
@%ﬁ 200HM
%%@ 150H
I %
-
HEaR X 53 EAERE (1FFmYEY)
D EH LW ATEARLE KERHE 950H
NEEE 100M
Eg! 250M
e 2 250H
LS 240
hﬁi 200M
%%ﬁ 150M
1K
KB,
Al

CDERBIL, FR314E48 1 A»LHEITT S,
Y3 14282 7 HEH
OEZLWHE A B Il % [

BEE19E—1



50

EREH
BMEAREORAE (DEE) TFELEMLTEBY, BEOENRRLTE TV,

FODH, FARERICEYTRY—ECROmE2H57-0 ({E¥E] # /NEE=R) L LT

FRTEXALI&FD—EE2HETEHLDTT,

EREZ198-—2



DLNEH B WIS BRAESRH] (ERE18E S 1T BV HILFE117E) FTIH R R

BER BT
Bl (B&BR) BIRE3 (9% MER)
A {5 R (1R 24 7 i d s R A AR (AR 7
D) )
DL EHB L WHIFRARE  [KA—n 800H| | (o XA LWIHVFRARME [Kbk—L 800H
/NS 100/ NI 100
i 150/ =1 150
R EE2 100 RRE2 100/
28 (1R 200M Fn= (13 200/
S (2R5) 250/ = (2F) 250
FiBE: 180M PRE = 180M
D < TH HLWTTZATIRA RS K= 950M)| | [2 < IEHHWHIILATIRAREE (K& 950
/N E 100/
Fnzx1 250 eS| 250
fns=E2 250 Fn=s2 250
Glb e 240M AR 2401
£ £
iR EES 200/ WHE = 200/
HE 150 =4 150/
SR LVWHMATEREARK &is 100[| | [2< HALWHATIRARE &= 100/
1 ) 50 B8 e 100F| | &R 53 fE RS 100/
R 120/ [RE= 120/

BRE19IEERE—1

53



O EAR LW LATIRARE 2= 100M] | o EHA LWL AFIRARSE &= 100M
BRSO Iy £ 100M| | [& R4S AE N 100/
D XA LWL ATIRARE &= 100[| | (o< A B WHZATRAERM (S 100/
-4y A Fnss 100M| | H-FsrfiE T 100M

HMRE 1 9 HEE—2

54



